RECURRING APPOINTMENTS

The ‘patient_appointment’ exists as it is...(unchanged)
Here are the changes
* New table ‘patient_appointment_timings’ for storing the recurrence information
- Just stores the recurrence information
* New bridge table ‘patient_appointment_occurrence’ between patient_appointment and
patient_appointment_timings
- Maintains the mapping between patient_appointment and patient_appointment_timings
tables

Proposed Data Model:

| patient_appointment v
patient_appointment_id INT(11)
provider_id INT(11)
appointment_number VARCHAR(50)
patient_id INT(11)

start_date_time DATETIME

"

| patient_appointment_occurrence v 1

» patient_appointment_timings_id INT(11) end_date_time DATETIME
tient int t timi ¢ paticnizappolntmentSIdiINI(TH) appointment_service_id INT(11)
| patient_appointment _timings ¥ > ) ) _
appointment_service_type_id INT(11)

patient_appointment_timings_id INT(11) v
recurrence_type INT(11) 1
|

Y status VARCHAR(45)

: location_id INT(11)
________ | b — — — — — — — 4  appointment_kind VARCHAR(45)
comments VARCHAR(255)
uuid VARCHAR(38)
date_created DATETIME
creator INT(11)
date_changed DATETIME
changed_by INT(11)
voided TINYINT(4)
voided_by INT(11)
date_voided DATETIME
void_reason VARCHAR(255)

period INT(11)

frequency INT(11)

end_date DATETIME
days_of_week VARCHAR(50)




Let us see how the data is stored for a recurring appointment:

Example: User created a recurring appointment every day with 5 occurrences on 1st

patient_appointment:

patient_ | appointm | pat | start_ end_ v | voided | date_ void_reason

appoint | ent_ ien | date_ date_ o | by voided

ment_ number ti [time time i

id d d

e
d

1001 0000 3 2018-01-01 | 2018-01-01 [0 | NULL NULL NULL
10:00:00 10:30:00

1002 0000 3 2018-01-02 | 2018-01-02 |0 | NULL NULL NULL
10:00:00 10:30:00

1003 0000 3 2018-01-03 | 2018-01-03 | 0 | NULL NULL NULL
10:00:00 10:30:00

1004 0000 3 2018-01-04 | 2018-01-04 |0 | NULL NULL NULL
10:00:00 10:30:00

1005 0000 3 2018-01-05 | 2018-01-05 |0 | NULL NULL NULL
10:00:00 10:30:00

patient_appointment_timings:

patient_appoi | recurrence_ty | period frequency end_date days_of week

ntment_timin | pe

gs_id

101 1 1 5 NULL NULL

patient_appointment_occurrence:

patient_appointment_timings_id

patient_appointment_id

101 1001
101 1002
101 1003
101 1004
101 1005




Editing a recurring appointment:
Now what happens when this recurring appointment is edited.
Suppose say today’s date is 3rd. That means appointments of date 1st and 2nd are past appointments.

When recurring details or startDate is changed:

The below scenarios are applicable when the user edits startDate, repeat_interval, repeat_type,

frequency or endDate

Scenario 1:

On 3rd, user changes repeat_interval from 1 to 2 days with pending occurrences as 3. The data
in the tables looks as below:

patient_appointment:

patient_ | appointm | pat | start_ end_ voided voided | date_ void_re
id ent_ ien | date_ date_ _by voided ason
number ti [time time
d

1001 0000 3 2018-01-01 | 2018-01-01 | O NULL | NULL NULL
10:00:00 10:30:00

1002 0000 3 2018-01-02 | 2018-01-02 |0 NULL | NULL NULL
10:00:00 10:30:00

1003 0000 3 2018-01-03 | 2018-01-03 |1 4 2018-01-03 NULL
10:00:00 10:30:00 13:00:00

1004 0000 3 2018-01-04 | 2018-01-04 |1 4 2018-01-03 NULL
10:00:00 10:30:00 13:00:00

1005 0000 3 2018-01-05 | 2018-01-05 |1 4 2018-01-03 NULL
10:00:00 10:30:00 13:00:00

1006 0000 3 2018-01-03 | 2018-01-03 | O NULL | NULL NULL
10:00:00 10:30:00

1007 0000 3 2018-01-05 | 2018-01-05 | O NULL | NULL NULL
10:00:00 10:30:00

1008 0000 3 2018-01-07 | 2018-01-07 | O NULL NULL NULL
10:00:00 10:30:00

patient_appointment_timings:

patient_appoi | recurrence_ty | period frequency end_date days_of_week

ntment_timing | pe

s_id




101

NULL

NULL

102

NULL

NULL

patient_appointment_occurrence:

patient_appointment_timings_id

patient_appointment_id

101 1001
101 1002
101 1003
101 1004
101 1005
102 1006
102 1007
102 1008
Scenario 2:

On 3rd, if the user clicks on appointment on date 4th and changes startDate from 4th to 7th
with pending occurrences as 2. The data in the tables looks as below:

patient_appointment:

patient_ | appointm | pat | start_ end_ v | voided [ date_ void_reason
id ent_ ien | date_ date_ o | _by voided
number ti |time time i
d d
e
d
1001 0000 3 2018-01-01 | 2018-01-01 (O | NULL NULL NULL
10:00:00 10:30:00
1002 0000 3 2018-01-02 | 2018-01-02 |0 | NULL NULL NULL
10:00:00 10:30:00
1003 0000 3 2018-01-03 | 2018-01-03 |0 | NULL NULL NULL
10:00:00 10:30:00
1004 0000 3 2018-01-04 | 2018-01-04 |1 |4 2018-01-03 | NULL




10:00:00 10:30:00 13:00:00

1005 0000 3 2018-01-05 | 2018-01-05 4 2018-01-03 | NULL
10:00:00 10:30:00 13:00:00

1006 0000 3 2018-01-07 | 2018-01-07 NULL NULL NULL
10:00:00 10:30:00

1007 0000 3 2018-01-08 | 2018-01-08 NULL NULL NULL
10:00:00 10:30:00

patient_appointment_timings:

patient_appoi | recurrence_ty | period frequency end_date days_of week

ntment_timing | pe

s_id

101 1 1 5 NULL NULL

102 1 1 2 NULL NULL

patient_appointment_occurrence:

patient_appointment_timings_id

patient_appointment_id

101 1001
101 1002
101 1003
101 1004
101 1005
102 1006
102 1007




When metadata is changed:

The below scenario is applicable when the user edits speciality, service, service_type, location, provider,

start_time, end_time, walk_in_appointment and notes

Using the same recurring details as above(every day for 5 occurrences)

Scenario 1:

Today is 3rd and user is editing today’s appointment. If the user tries to change

appointment_service_id from 2 to 6 and save, the user is prompted with a dialogue to ask whether they

want to change the service for only that appointment or for all upcoming appointments. If the user

selects only that appointment then appointment_service_id on 3rd changes from 2 to 6.

patient_appointment:

patient_ [ appointm | pat | ap | start_ end_ v | voided_ | date_ void_reas
id ent_ ien | poi | date_ date_ o | by voided on
number ti [nt |[time time i
d me d
nt_ e
ser d
vic
e i
d
1001 0000 3 2 2018-01-01 | 2018-01-01 |0 [ NULL NULL NULL
10:00:00 10:30:00
1002 0000 3 2 2018-01-02 | 2018-01-02 |0 [ NULL NULL NULL
10:00:00 10:30:00
1003 0000 3 6 2018-01-03 | 2018-01-03 |0 [ NULL NULL NULL
10:00:00 10:30:00
1004 0000 3 2 2018-01-04 | 2018-01-04 |0 [ NULL NULL NULL
10:00:00 10:30:00
1005 0000 3 2 2018-01-05 | 2018-01-05 [0 | NULL NULL NULL
10:00:00 10:30:00
patient_appointment_timings:
patient_appoi | recurrence_ty | period frequency end_date days_of week
ntment_timing | pe
s_id
101 1 1 5 NULL NULL




patient_appointment_occurrence:

patient_appointment_timings_id patient_appointment_id
101 1001
101 1002
101 1003
101 1004
101 1005
Scenario 2:

Today is 3rd and user is editing appointment of date 4th. If the user tries to edit location_id from
3 to 4, the user is prompted with a dialogue to ask whether they want to change the service for only that
appointment or for all upcoming appointments. If the user selects all upcoming appointments then

location_id on 4th, 5th changes from 3 to 4.

patient_appointment:

patient | appoint | pati | appoi | start_ end_ loca |voi | voide [date |void r
_ ment_ ent | ntme | date_ date_ tion |de |d by |_ eason
id number | _id | nt_se |time time _id d voide
rvice_ d
id
1001 0000 3 2 2018-01-0 | 2018-01-0 |3 0 NULL | NULL | NULL
1 10:00:00 | 110:30:00
1002 0000 3 2 2018-01-0 | 2018-01-0 |3 0 NULL | NULL | NULL
2 10:00:00 | 2 10:30:00
1003 0000 3 2 2018-01-0 | 2018-01-0 |3 0 NULL | NULL | NULL
310:00:00 | 310:30:00
1004 0000 3 2 2018-01-0 | 2018-01-0 |4 0 NULL | NULL | NULL
410:00:00 |4 10:30:00
1005 0000 3 2 2018-01-0 | 2018-01-0 |4 0 NULL | NULL | NULL
510:00:00 | 510:30:00
patient_appointment_timings:
patient_appoi | recurrence_ty | period frequency end_date days_of week

ntment_timing

pe




s_id

101 1

5 NULL NULL

patient_appointment_occurrence:

patient_appointment_timings_id

patient_appointment_id

101 1001
101 1002
101 1003
101 1004
101 1005




